RED 00'(#
R <
<

TAILGATE MOUNTED FLAG
& ANTENNA HOLDER

(2018+ WRANGLER JL)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Flag Holder T-55 Torx Socket

(2) Flag Holder Mount 2.5mm, 4mm, 6mm Allen Keys
(1) Antenna Mount Ratchet

(6) M3 Allen Bolts

(2) M8 Allen Bolts

(1) Knob

SKU # J166738-JL
Edited: 03/16/2022



’
REDROCK:
z

STEP1

Step description here...

STEP 2

Install the (2) flag holder mounts to the tailgate using (1) M8 Allen bolt per mount. Insert the flag
holder into the mounts and tighten all of the mounting hardware.

Note: Ensure the (4) threaded holes are facing upwards when installing the flag holder.




’
REDROCK =
z

STEP 3

Install the antenna mount using (4) M3 Allen bolts, tighten until secure.

STEP 4

Use the (1) knob to secure a flag to the flag holder.

Installation is now complete.



	J166738-JL - RedRock - Tailgate Mounted Flag & Antenna Holder (18+ JL)-01
	J166738-JL - RedRock - Tailgate Mounted Flag & Antenna Holder (18+ JL)-02
	J166738-JL - RedRock - Tailgate Mounted Flag & Antenna Holder (18+ JL)-03

